P = a® + 4a°b + 2ab?, Q = —2a%b + 3ab®> - b & W, 3P -205
A4S ?

@ 3a® + 12a°b + 2b° @ 3a® - 12a%b + 2b3

® 3a® + 16a%b + 2b3 @ 3a® + 8a%b + 2b3

® 3a® - 8a?b + 2b*



| xoll et AL ull, a— b+ ¢ F& Fatolet

32 +2x+1=a(x-1)2+b(x-1)+¢




o
Ko lim!
el S Ao] T2 5l Al



4. O F(x) = 2 + 3% +kr—k7b x4 1B Lol ol A EE A
o gk Hshu?

@ -3 @ -2 ® -1 @0 ®1



5. (1252 =75%) = {5+ (30 - 50) + (=4)} 2 Zk2?

O 75 @ 125 @ 900 @ 1000 ® 1225



6.

A (V3+i)(V3-i)(xtyi) = 8-2i &
xy O F2?

D -2 @ -1 @0



7. S5 o g5k i+ 2 + 8 + it 4+ i° + i & 7FAS|5HH?

D 1+i @ -1+i ® 2i
@ 2+i ® 2



8.

o] A

7].11

a

f

C
=

o

A - 2x+a+1=09] F o] AR thE Huel

,a®] go) W9 Tatolet.



9. (6x>-x>-5x+5)= = SEr T =
+(2x - = = S
—6—}%? ) (x 1)94 —v\‘%a,"}'tq;qab ?:-_1' ,a+b§

® 3x24+x+1 2
@ x+x+1 @ 3x2+1

2
@ *>+x-1 ® 3x2+x



10. F o334 x2 +ax + b, x? + 3bx + 2a 2] H P57 x - 1< o,
a+ b2 FE& F5HA?

O

@ 2 @1 @0 @ -1 ® -2



11.

O AP A

’+(@a+2)x+1=00°] 5
FohH?



09 % 22 0.p2T B 1), 0¥ 4 47 9]

2 -3x+1=

4

H
[
?

17}

&t

12.

©
o

@ 16 ® 17 @ 18 ® 20

O 15



()

@ 2 @ 3 @ 4 ® 5

1



14.



15. ohg A Re] 32 A e] F5 LS Toteler,

432 -x-3=0,x3+2x2-x-2=0,
X —4x?+5x-2=0




AR 6 4 33210 =09] B

16.

@ 1 ® 2

® 0



oAl xy 2] Bt -otHA?



18. o] B AR & 4 ma? bnxt 18 x4 12 e L] 2)7} 50]7,
x -2 el o] ol Arka gt of ol m+ n o] 27

19 25 29 14 7
©-> ©-T 0-2 0-- 0-



©9

abed 2 7k

oL
H

Fe 4% ab.e.d 9

=7
=0

s

® 5 @ 10 ® 18

@0



20. x*+2x4+9= (2 +ax+b)(x* +cx+d) 2 JA5EHNE W, |ab - cd|
o g2 Poteler.

D
=%



?

LSS
—

o o] el 10 2 HA4zEE ] Ao Wol

® 100

@ 50

® 25



22.

a, b= A5t gt xof B F O] o] AP x2 4 a’x4-b*—-2a =
0, x> = 2ax + a®> + b* = 0°] 22 stte] FFLE /M W, a + b 9]
4 4

@ o @1 ® 2 @ 3 ® 4



sholat,

2

1

__OH

_q]

Ho

= Al 2] AlA

o, °]

Qo]
=



24.

OJAFA] x2 —xy—2y? —ax—-3y—-19°] x, y °ll

A5He He B

D1

@

h s
t%‘l‘

| W

a 9 k9] Fe?

® 2

@

5t

o

N | Ot

i



25. ot IHI} Zo] T & f(x) = 2x2 +ax+ 4, g(x) = cx+d 9
T ETb x =1 3 x = -3 ol Tk o] W, & y = f(x) - g(x)
) 214:12

y=g()

|

o

&)

Y I
8




